Mathematics Revision Exercises

Equations, [nequations and Expressions

Find a value for x which satisfies sach of the followingj;-

a) 3x-2 = 4 b) 4x-2 = x+7 c) Sx = 2{(x+3)

d) 4x = 2 e) -4x = 2 ) 4x = -2 g) —4x = -2

h) 3x—-4 = x+11 i) 6x+3 = 9x-8 j) 6(x=1) = 8x

Solve the following equations for x,

a) 4(x+1)+3 = 27 b)Y 4-2x = &6(x+1) c) 10(2x-1) = —-29+x
R 33X 4 1

d) 4(3x-2) = 2(x+1) e} 5 = 9 )  Sx+2 = x+1

g) Ex+3) - % = ¢ h) 4(x=3)42x = 7(l=x)+7

Soclve each of the following inequations,-

a) 3Ix+2 > 0 b) 4x+3 < 2x+10 c) 4(1-x) > 3

d) 4 < x+3 e) 3(2x-1) < x+5 f) $4x+3) < bx+1

g) (x=2)2 > x(x=6) h) —-2(x—1) < 4(2x+3)

Simplify the following expressions;-

2x2+4x &x+6 x=2-4
a) X b) X+1 c) X+2
R==@= 3Ix+3 4AxZ+4x
d) P+Q ) x2+x 3 i
X2+5x+6 4xZ+9x+2 XZ-4x+3
g) x+3 h? 2x+4 i) x=2-1
25x=-16 Iu=-4 18y=-32
i) S5x+4 k) Ix2Z—x-2 1) 3y=2+4y
2ab+b 23=-35ab~-3b* 2m<Z-4m—30
m) 4a=-1 rnd 2a+tb o) 2m+b6
Solve the following gquadratic eguations;-—
a) xZ+7x+10 = 0 b xZ=x—6 = 0 =) XZ—7X+12=0
d) 2x*-5x-3 = 0 8) bx2E+19x~7 = 0 £) SxZ+29%x-6 = 0
g) x2-4 = O h) 9x=*-25 = 0O i? (2x+3)=2 = 9
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